4 PEAKTRONICS

MKT-181

Actuator Controls Mounting Kit

Sun Yeh OM-4, -5, -6 Actuators

KIT CONTENTS

QTY DESCRIPTION

actuator bracket
#6-32 x 0.75" pan head screw
#6-32 x 0.375" pan head screw

#6 split ring lockwasher

4mm split ring lockwasher
potentiometer gear

output shaft gear

potentiometer anti-slip washer

9" blue wire w/spade terminal

9" grey wire w/spade terminal

7" red wire w/butt connector

5" wht/blk wire w/butt connector
6.3" nylon tie wrap

OFRPNFPRFRPEPERPEPNMNNANDENERE

4mm/0.7mm x 10mm socket head cap screw

#6-32 X 0.375" socket head cap screw (for mounting transmitter)

www.peaktronics.com

PEAKTRONICS, Inc. 1363 Anderson  Clawson, Ml 48017  Phone (248) 542-5640 FAX (248) 542-5643

800-190B

page 1



MKT-181

0 O
= =~ NOWWOD AV13d
5 © 1NO LINv4
© o—E)
(feuondo) sNpojy Aepy/NIWsSURIL 00T-H1O | 2 ® 110 N3O XNV
(reuondo) ajnpo Jeniwsuell 00T-X 1O 1N0O 3ISOT10 XNV
@ adNoS TVNOIS
@ ndino wyw ._ Joyiuow
A%eqpas) | —
........... @- indino A ._ +
® .
ndino Jaypbo) pa1seuuod
d313INOILN31Od AN AST+ 9( Ued spunols) BJ0N m
v_Od:m“_m_m_m_u_ @ "o AG %
¢0T-10d o © =
a3ad NOT/S0 ‘AS-T 4 leub s =
1| puewwod [
3LIHM © © VwozZ- ; w
LINIT 3010 AOovid ® ® ano 1VYN9IS W
ON Fo @ @
o]
uedo pue ssop Jo LomRIqIED AVHO = 5 o AaNO H1dVH Q
Buunp s Ajeoirewore  NOWWINOD HOLOIN 0} 4 4
s1 Bunoe ssenal Jo Bunde 1211q a=zd a3y ANIT T ;
ONa__ —
ONo ~ D aNTd @ @ IVvdLN3aN 271
LINIT N3do
Y c ar
O
& a3d H‘__QM_M%H JLIHM _m A9/ LHM

Jo1euu0d Nnq = [

page 2

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-190B

1363 Anderson

V00T-OHA JVAveEC
00T-OHA OVALTT

SI0FeNY 9- ‘G- ‘Y-INO B A UNS ANVYHOVIA 9ONIFIMN

SHINOILISOd 1VLI9I1d OV

PEAKTRONICS, Inc.



MKT-181

Jo1euu0d Nnq = [

9 O,
= NOWWNOD AV13H
B © 1NO LINv4
(luondo) ainpo N Aep/leniusuel | perios| TOT-H10 | & — T o e XAy
(luondo) a|npoN JeniwstelL paejos| TOT-X1O |2 —)
& 1NO 3SO10 XNV s
(-) vwoz-v 4| >oeapeey [—
---------H@- (+) ywoz-v
"9-TC WOJJ PoIosuUU0sIP S Z MS INIT cNSNRL g ®
|UN UNJ 0} JOJOW 8y} SMO|[e pue ZmsandydoL  AFHO
annsod z JOLOWN Sks (A) uonng TMS Wi =
umop 1snipe ayy ‘apow TYNNVIA Ul Wo I MSanowoL 3nia © ® 1NO NG+ 3
'9-TC WOI} PRIJBULOISIP SI T MS NI 2 © pubs | 4 38
[1UN UNJ 0] JOJOW 8} SMO| e pue z anad NO) (+) ANVIWINOD +| PuUewwos 5
mm,_:woﬁ“ T YOLOW sw®s (V) uonng um
n 1snfpe ay) ‘spow TYNNVIN Ul © JERE)
® ® (-) ANVINWOD * S
‘Uado pue 8500 JO UoIRIq I Z 4O10W L/
s1 Bunoe asenal 1o Bunde 10011Q N T HOLOW @
@5
3 93N Lvd /
= 1=
m 3 SOV g ® P18/ LHM —
o nGa = @ g—
m > B JLIHM +
O]
mx
m a3y © O soava SANVZT
Y T
T | |m
a3y _“_ow_uwm_o._h LHM
00t-OHAa
SI0ENPY 9- ‘G- ‘v-INO YS A UnS ANVHOVIA ONIFIM

ddNOILISOd 1vV1191d 2Od

page 3

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-190B

1363 Anderson

PEAKTRONICS, Inc.



